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Volume is the amount of s..
that is inside a c... .

Volume can be measured only for
.. Shapes.

Volume is measured in



What ic capacity -

The amount of ...
inside @ container can be measured by
ITs capacity.



Liter is a unit of capacity or
liquid volume.

1 litre=... milliliters
Or

1 ml = —
1000th




Lead-in

» Taking few boxes to the class asking Ss if they can guess/read how
much each box weighs/which is heavier or lighter



What is
mass

the quantity(zhow much or how many of something)
of matter(=thing) in an object



—*B'\aes :\a;;s .&Ceftzx b;;"%f JSB.OOKS IS @ k3 heavier than +he

the box of the box of
bogl?skis toys is
3lkg. 25

-
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Kilogram is a unit of mass.

1 kg=1000 grams
Or

1
9= Toooen 9

1 kg 1kg = 1000 g




What is the unit of capacity or liquid volume?
What is the unit of mass?

How many grams are there in 1 kilogram?

O©H ©

How many millilitres are there in 1 litre?

What is mass?

quantity of space/the volume inside container/ quantity of matter
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Let’s investigate

One litre of petrol weighs approximately L.
= Look and learn
ZOCq - -~ Capacity: the amount
container can hold.
The mass of my car was 1228 kg when - Litre: a unit of capacit

I started my journey. At the end of the | = =t o

journey it was 1214.7 kg. - Mi!lilifr’e: a  unit o
capacity or liguid wvolume.
one thousandih of a litre.

If 1 did nmnot change the mass of the car Mass: quantity of matier

in any way, except using the pPpetrol, howw in an ob ject.

many litres of petrol had I used? - Gram: a unit of mass.

|
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Kilogram: a unit of mass,)%

one thousand grams. "

1228- 1214 =14 kg
14 kg * 1000 = 14000 g
14000/700= 20 litres

i




» Which is lighter?

» How many kilograms lighter is it?



Q2: Fill in the blank: The mass of the box of books is kg heavier than the mass of the box of toys.

\_ The mass of the box of books is 31 kg. J The mass of the box of toys is 25 kg. J




Bag of jelly beans Bag of chocolate

Finish thesc scntences to describe thhe masses of thhe bags.

b The mass of thhe bag of jelly beans is == Srairis.

b The mass of thhe bag of chocolates is === orarmms.

b The bag of chhocolates is === gsrarms hheawvier thhan the bags of lollipops.
b The bagof = is thhe heawviest.

lollipops
E] Jellyw beans
chocolates



